
The river known as Van ki Asha' (Hope of Forest)7 
is 

(A) Mahi River 
(B) Banganga River 
(C) Luni River 
(D) Banas River 

(D) TTT aT4T ziut arrea 

(A) HT 7 
(B)TUTT 
(C) T 
(D) T T 

Which fair is called the 'Kumbh of Tribals' of 

Rajasthan? 
(A) Jaisalmer fair 
(B) Pushkar fair 
(C) Tejaji fair 
(D) Beneshwar fair 

Where did the revolution of 1857 start in 

Rajasthan? 
(A) Khervada 
(C) Nasirabad 

(B) Neemuch 
(D) Arinpura TTAT? 

(A) THTHT HMT 
(A) &rer_ 
C) HIIIE 

B) 4 

D) ykyR 
(B) T T 

(A) TTaT 
(C)y 

(B) aa 
(D) HTT When was Bikaner Rajya Praja Parishad 

established? 

(A) 1942 

(C) 1936 

(B) 1945 

(D) 1940 
Ramsagar Van Vihar Sanctuary is located in which 
district of Rajasthan? 

(A) Bharatpur 
(B) Sawai Madhopur 

(C) Dholpur 
D) Karauli 

(B) 1945 
(D) 1940 

(A) 1942 4 

(C) 1936 

10 Biji' is the alias of which litterateur? 

(A) Babavji Chatur Singh 
(B) Vijaydan Detha 

(C) Kanhaiya Lal Sethiya 

(D) Dursa Aadha 

etat ? 

(A) TIAyT 
(B) FT 41gT *, 
C)aTnyT 
D) e 

5 In which fort are nine similar palaces built? 

(A) Nahargarh 
C) Taragarh 

(A) are Tgrie 
(B) feuraT T 

(C) TT BAT 
(B) Gagron 
(D) Chittorgarh 

(D) grHT TGT 
(A) TETT 
(C) aTTG 

(B) TTRU 
(D) ferisE 11 Where the tourist place 'Chand Baori (Bavri)' is 

located? 
6 Kolayat lake is situated near the city 

(A) Bikaner 
(C) Jodhpur 

(B) Jaipur 
(D) Udaipur 

(A) Abhaneri 

C) Dholpur 

(B) Talvada 

(D) Bhangarh 

(B) T1ST (A) ao 
(C)tg 

(B)T4y 
(D) 3FyT 

(A) HTHTHt 

C) tngr (D) THT 

IP4 S 2 [ Contd. 



12 

(A) H6RTETE M 
(B) RTRT TI 

(C) TRT 9M 

(D) HTTYT TI 

(A) TUHE TI 

(B) 7gTTiE ET 

C) f9tr HTTHÍa 

(D) HTET ATTT 

13 Ganeshwar civilization is situated on the bank of 
which river? 

18 On which occasion are Lahariya worn by women 

(A) Kantli River 

(B) Kothari River 
C) Ayad River 

(D) Banas River 

in Rajasthan? 

(A) On Akha Teej 

(B) On Ram Navami 

(C) On Savani Teej 
(D) On Kajali Teej 

(A) T A. 
B) t6r T TT? 

(C) HT T (A) HTCT IM RR, 

Siwaniya, Kala Khunta, Ghatia areas in Banswara 
district are known for the deposits of . 

14 

mineral. 
19 Who was the initial founder of Kumbhalgarh fort? 

(A) Kunwar Prithviraj 

(B) Samprati 
C) Man Maurya 

D) Rana Lakha 

(A) Lead-Zinc 

C) Tungsten 
(B) Manganese 
(D) Silver 

(A) FIAT-TT (B) TT 

C) zRA (D) (A)T TatT 
(B) 

As per the Census 2011, the district in Rajasthan 
where percentage of urban population remained 
the highest in the state, is -

(A) Kota 

(C) Jaipur 

15 (C) HT7 
(D) TUIT T 

(B) Ajmer 
(D) Jodhpur 20 Famous painter 'Sahibram' belongs to which school 

of painting? 

(A) Jaipur School 

(B) Bundi School 

(C) Nathdwara School 

(D) Kishangarh School 

(A) ateT (B) HT 

(C)y (D)agr 

16 Narma' is a variety of which crop? afem? 
(B) Maize 

D) Rice 
(A) Cotton 

(C) Wheat (B) s 
(C)HT4ET STT 
(D) fe6TTE S (A) 54T (B) 4h 

C) 
(D) T4T 

3 [ Contd.. 
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21 The river Ruparail originates from 

(A) Kumbhalgarh 
(B) Rajoregarh 
C) Udainath 

26 Highest variation of rainfall during June to 

September recorded in the district of -

(A) Bikaner 
(C) Jalore 

(B) Sri Ganganagar 
(D) Jaisalmer 

D) Raghunathgarh 

(B) rtFTT 

(D) T 
(A) Ha 

(A) TG C) 
(B) TIHRTG 

Where&was Bharatpur Prajamandal established? 

(A) Rowari 

(C) Bhatatpur 

(C) G4TY 27 
(B) Nadbai 

(D) Hisar 
(D) TTTG 

22 ITHTHT THR I TTTHTT 
(A) TT 

C)HIST 

(B)TE 
(D) eTT 

(A) T 
(B) ure 

(D)zrH 
(C) trT 

28 Which.region of Rajasthan is famous for Rammat? 

(A) Bkaner 
C) Jalore 

(B) Nagaur 
(D) Jodhpur 

23 As per the soil classification of Agriculture 
Department, Rajasthan 'Gypsiferrous' soil is found 
in 

(B) TiR 

D)erg 
(A) Kota (B) Jodhpur (A) aT 
C) Ajmer (D) Bikaner 

29 On hich month the festival of Hariyali 
Amavasya' is celebrated? 
(A) Bhadrapada Amavasya 
(B) Ashada Amavasya 
(C) Falgun Amavasya 
(D) Shravan Amavasya 

(A) e 

(C) T 
(B) ayt 
(D) ac 

24 Bhadla Solar Park is located in. 
(A) Jalore 

(C) Jaisalmer 
(B) Jhalawar 

(D) Jodhpur (A) H HHTTRT 
(B) GHIRT 
(C) ATAT 
(D) TaT HTART 

(A) TI 
(C) T 

(B) HTTT 

(D) egt 
30 Which of the following is the correct duration of 

Zaid Crops in Rajasthan? 
(A) Octpber to December 
(B) Jaruary to March 
(C) March to June 
(D) Juné to September 

25 Where was Tejaji born? 

(A) Undukasamer (Barmer) 
(B) Bhundel (Nagaur) 

(C) Gogamedi (Hanumangarh) 
(D) Khadnal (Nagaur) 

(A) HT (aTgT) 
(B) T (TwHT) 
(C) (gATE) 
(D) TT (TR), (D)T fcraT 

IP4 $ [ Contd... 4 



31 Which of the following districts of Rajasthan ha. 1 

largest forest area according to ISFR-20212 
(A) Udaipur 
(C) Alwar 

Khichan village in Rajasthan is known for 
(A) Siberian crane 

(B) Houbara bustard 

(C) Demoiselle cranes 

(D) Bengal florican 

(B) Kotà 
D) Baran 

TS gE.5. ATT. -2021 25 TATN qM Faifat? 
(B)o 
(D) 3R 

(A) FTEArt HT 2 

(B) faar 

(C)iT 

(A) 3F2y7 
C) ATaT 

CY 
32 Siliserh Lake Palace 1s situated within the 

Tourist Circuit of Rajasthan. 
(B) Mewat 
(D) Dhundhar 

(D) TT 

(A) Brij Mewat 

(C) Vagad 
TU T? 

(A) a TTAT 

(B) HHY 

(C) THaTT 
(D) 7UTT 

(A) AT (B) Has 
(C) aFT D) n 

Who was the founder of Rathods dynasty of 

Jodhpur? 
(A) Jodha 

(C) Seeha 

33 Which soil chromusterts subgroup has signif+cance 

in Rajasthan? 

(A) Inceptisols 
(C) Vertisols 

39 

(B) Beekan 
(D) Sanga 

(B) Alfisols 

(D) Aridisols 

(A) TTT 

C) tHET 
(B) aTo 
(D) HT (A) HkaT 

(C)Tdata 

(B) 3TY 

(D) yrrtre 

(B) 7T9TCT 
(D) TToT 

The major deposits of gold ore in Rajasthan have 

been estimated in. 

(A) Rajsamand 
(C) Banswara 

(A) staTaT 40 
district. C) TTST 

(B) Dungarpur 
(D) Pratapgarh 35 Tfsor Ta TT? 

(B) fiar 4TÅ 
(B)TRT (A) IFHE 

(C) aTHTT D) TYT 
(D) faut faar 4r 

LO 
Which of the following is not correctly matched? 
(A) Moda Hills - Jhunjhunu 

(B) Dargah Hazrat Qumaruddin Shah Nagaur 
(C) Kanhaiyalal Bagla Haveli - Churu 

(D) Nihal Tower Dholpur 

41 When does Mallinathji cattle fair begin? 
(A) Chaitra Krishna Navmi 

36 

(B) Chaitra Amavasya 
(C) Chaitra Krishna Ekadashi 

(D) Chaitra Shukla Ekadashi 

(A) HHST Y6TS T 
(A) UT 7HT 

(B) T 41eRT 

(D) freM zier - amyT 

(D) T yATEsT 
[ Contd... IP4 
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Which article of Constitution of India is about 46 Vishwamitra Dadhich is famous for his 

Executive Power of State? 
42 

contribution in the field of 

(A) Painting (B) Literature 

C) Musice (D) Acting 
(A) 158 
(C) 154 

(B) 159 

(D) 156 

43 Which of the given statements is wrong WIn 
reference to Swami Vivekananda model schools?| 
(A) These schools are run by Rajasthan Council 

of Secondary Education under Samasa. 
(B) Co-Education facilities are available in these 

(A) faaeo (B) Hu 

(C) ra (D) 

47 A joint air force exercise between India and France 

was held at Jodhpur from 
school. 

is known as (C)These schools are affiliated to CBSE. 
(D) It is a residential English medium school from 

class 6 to 12. 

26 October 2022. 

(A) Vijay Prahar 

(B) Garuda 

C)Vayu Shakti 
(D) Mitra Shakti 

(B) faTTi E-TT (Co-Education) fT 514 TAT , 26 TT 
2022 Tyr emf7 f4T TqT (C) faYTTT CBSE HRAT HTTË 

(D) 7 T 6 12 T TAt sTut 4TEq4| (A) e TETT 

(B) T6_ 

44 Sartaj Narayan Mathur was awarded by the Sangeet 
Natak Academy for his contribution to 
(A) Theatre and acting 
(B) Tabla 
(C) Folk music 
(D) Sitar vadan 

D) f STT 

48 Which one of the following is not funded by Asian 
Development Bank? 
(A) Rajasthan State Highway Investment 

Programme Project - II 

(B) Rajasthan State Highway Development 
Programme - II 

(C) Rajasthan State Highway Investment 

(B) T 
2S 

C) ia 
(D) ftarr aa Programme - I 

(D) Rajasthan Secondary Town Development Sector Programme 45 Out of 25% of the reserved seats 
seats shall be provided to children belonging 
to categories other than SC and ST of 
disadvantaged group. fTufteT 7 ? 

25% TTaT iei à 

(A) 2.5% 
C) 7.5% 

(B) 16% 
(D) 1.5% 

IP4 
[ Contd.. 



Where will the panorama of freedom fighter Kesri 

Singh Barhath be built? 
(A) Shahpura, Bhilwara 
(B) Tijara, Alwar 
(C) Runicha, Jaisalmer 
(D) Baswa, Dausa 

esri | 53 The Mukhyamantri Nishullk Janch Yojana in 

Rajasthan was started in 

(A) 7th April, 2013 

49 

(B) 1st May, 2013 

(C) 2nd October, 2013 

? 
(A) 9EYT, HITAST 
(B) RT, ATR 

(C) 5TaT, THTAT 
(D) aHAT, EAT 

(D) 31st October, 2013 

(A) 7 7M, 2013 

(B) 1 , 2013 

Chairman of Kothari Commission was 
(A) Datar Singh 
(B) Prabhudan Singh 
(C) Swami Singh 
(D) Lakshman Singh 

50 
(C) 2 tT, 2013 

(D) 31 HFET, 2013 

(A) aITR f 
(B) yE HE 
(C) FTH E 

54 In which one of the following districts of Rajasthan 

was the first Sherpa meeting of G20 Presidency 

organized in December 2022? 

(A) Kota (B) Udaipur 

(C) Jaipur D) Jaisalmer 

Out of the patterns given below which of them 
has been adopted in place of 10+2 pattern for 
school education in the New Education Policy| 

2020? 

51 
9TTUT àa7 fer 2022 Tufa 

T t? 

TTET 2020 a f1T 10+2 ùzi (A) T (B)34 

(C) (D) THTHH 
(A) 4+5+3+3 
C) 4+3+3+5 

(B) 3+3+4+5 

(D) 5+3+3+4 
55 When was Central Board of Secondary Education 

52 Arrange the following former Chief Secretaries of 

Rajasthan in chronological order according to their 
established? 

tenure. 
(A) Nihal Chand Goel C.K. Mathew -Rajiv 

Meharshi - D.B. Gupta 

(B) Rajiv Meharshi -Nihal Chand Goel C.K. 
Mathew - D.B. Gupta 

(C) C.K. Mathew - Rajiv Meharshi - Nihal nand 56 How much cash stimulus is provided by the 

Goel D.B. Gupta 
(D) Rajiv Meharshi -C.K. Mathew -Nihal Chand 

Goel - D.B. Gupta 

(A) 1954 (B) 1955 

1952 (D) 1953 

Rajasthan Government to the children of 
construction workers for participating in any 
International Games Competition? 

(A) 8 lakh (B) 11 lakh 

(C) 2 lakh (D)7 1 lakh 

(A) R 8 TT (B) 7 11 T 

(C)2 TTa (D) 1 TT 

IP4 $ [ Contd.. 



57 Match the following -

| 60 Elementary education covers education fromn 

class Statevsymbol of 
Rajasthan 

Binomial Name 

(A) I to 8 

(C) 1 to 5 

(B) I to 10 
(D) I to 6 

Flowér Gazella bennettii a. 

b. Animaf ii. Ardeotis nigriceps 

(B) 1 10 
(D) 1H 6 

Tree ii. Tecomella undulata 
(A) 1 8 

C. 

d. Bird iv. Prosopis cineraria 
C) 15 

If sufficient number of applications for SC seats 
has not been received, then they shall be filled 
from 

61 

category. 
(A) OBC 
(B) General 
(C) Scheduled Caste 
(D) Scheduled Tribe 

a. i 
b. 

ii. fecoHaT ET C. 

d. iv. Trifr fertziraT 
Choose the correct code 

(A) BST 
(B) FIHTa 

(A) a-ii, b-iv, c-ii, d-i 
(B) a-i, b-ii, c-iv, d-ii 
C) a-iv bii, oi, d-ii 
(D) a-ii, b-i, c-iv, d-ii (D) THèT TTiT 

58 The Ceramic Electrical Research and Development 
Centre is-docated at 

(A) Jodhpur 
C) Bikáner 

62 The name of the third floor of Hawa Mahal is 
(A) Sharad Mandir 
(B) Prakash Mandir 
C) Ratan Mandir 
(D) Vichitra Mandir 

(B) Jaipur 
(D) Churu 

a? (A) STTE ifaT 

(A) trgr (B)H (B) THTT ifeT 

(C) atcorr (D) 
(D) fafea T 

39 SMedhawi Chhatra Scooty Yojana is | 63 
empowering education in Rajasthan. 
(A) Savitri Devi Phule 
(B) KaliBai Bhil 
C)India,Gandhi 
(D) Sashakt Nari 

Who among the following was not awarded with 
the first Maharana Pratap Award 1982-83 in 
athletics category? 
(A) Hamida Bano 
(B) Rajendra Prasad Sharma 
(C) Gopal Saini 
(D) Rajkumar Ahlawat 

(A) ETHT 
(B) T THTE STHT 
C) HYT 
D) TITGHTT HETTT 

(A) HifeT àat yd 

D) HT TU 

IP4 S 
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According to New Education Policy 2020 which I 7n tfaT qui ast 76 Jary IM ZHT of the given learning mediums is placed for the 
students upto 5th standard? 

64 

a. e1. (A) Sanskrit 
b. 

2 
o3. 
b4 9 

(A)rl-2-a, 3-d, 4-b 
(B)-14b, 2-d, 3-a 4-c 
(C)1a, 2-b, 3-c, \4-d 
(D)la, 2-c, 3-d, 4b 

(B) Mother tongue/Local language 
(C)English 

C. 

d. 
(D) Hindi 

TETAtfr 2020 5 THTT T 5 T% faenfesai| 

(A) p 
(B) HITHTST/ITH TYT L 

C) 3 
D) f 

71 -ian 7JT T A ? 

(A)geifa 

(C) TeT 
(B)TE 

D) qT 

65 Which district was awarded for the empowerment72 a a I 3TT TT 3Ttr tua 
of specially abled people in December 20222 T HT YEAIH? 
(A) Sirohi (B) Alwar 

(D) Jaipur (C) Bikaner 

fey fr 2022 yra f TqT ? 
(A) fde (B) aT 

(C) T (D) TT 73 

(A Fst 

(B) Tiset 66 

(A) TT, T, fH 
(B) aE, TyAI, zia 
(C) , tar, AstT« 

D) , E, FIH 

(D)TR5 TAAt_ 

74 

(A) H+ t 
(B)H+Y 

67 (C)+tY 
(A) T (B) y 

(C) FT (D) 7Hlo 
75 

68 (A)T f-818 
(B) Th - 37Yh¢ (A) qYTTV (B) 4v 

(C) TzZA (D) (C) TH PITT v 

(D) HM - 73R 

16 

(B) 44L 7+ 

(D) Ha 

(A) TS 

(C) 3A 
(B) sM« (A) HHTq 
(D) 

(C) GT 

uTT 9 [ Contd... IP4 



(A)7, 47 
(B) 9T, ta7 (A) 79 

(C) ToT 
B) 
(D) y C), TET 

(D) a, Pr 

(B) Huta 
(D) qifr 

(A) TTHT TH (797 FH 86 à88) 
(C) ATT 

TTT ? 

(C)Tg 4Trit, gr (A) 
(B) a HT TT 

81 (D) H7 
(A) 3MI (B) 94 
(C) HT (D) TTR 87 HRH stTT ÀT HHT ? 

aST (A) aT * 

(C) 
(B) T A 

S 

(A) TTIET aTATeRTIÀ 
(B)T-

(C) 5T (D) Ts 

(A) 3 B)au 88 1 Y7yT 

C) (D) T (A) 4T7 

(C) 4HT (D) qTH 

(B) HTbT y7 FH 

(D) aTs! foHI Za 

IP4 $ 10 [Contd... 



90 

(A) Ta74t, z7T 
(B) , 3T (B) TT, Teen, h 

(C) atz, HT, T1d 

(D) T T, ay (D) STT, Tei 

91 
97 ffefan aTEG_TE M ? 

(A) feeT (B) T 
(C) ATC679T (D) 

(C) ATHT T 

(B) 
(C) hlT (D) a 

92 eate5 77 yT FHT 

(A) TET THT 

(C) AT TET 

93 sta: auT8i )-

CB) (A) 100 SUMMON 3 sz fay ftqfr4Tr 
(C) (D) T 

94 

(A) TTT 
(C) 37TT 

(B) ¥T hAT 7 
(C) T (D) 9HTT 

101 T afqarat 
CA) HfeT 
C)ay 

(B) T$T 

(D) y5TT 

102 3T ? 

HTQ-THT (A) T (B) 
(D) a 

103 f 9T i JayTE_HTH*? 
(A) TE (B) 4 

C) 79TAT T 
104 TT ET gie F a TYOT FATH ? 

(A) FVATM gY 
(B) T6U dYoV «, 

(C) a7T TgoY 
(B) Tz-4T 

-4 

(D) H4TG TY5 
(A) HCT 

(C) TT 
11 Contd... 
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123 -Tir z7-sa T Ti -

(B) TT 
(D) 4-A 

(A) -T 

131 f ,rHha a arh-

(A) TyoTT- HYe5T 
AB) T - m ET) 

(C)37aa -ATET 
(D) s 

(A) E faer 
(B) t IY faf 

C)HTE faft 
(D) HTueTÀ fafT 

126 4T9T o9T7 TEI 357 
LA) T, aTI, T, E V 

(B) I, YET, aTT, fHET 

(C) T, TTTT, aT-T, TT 
(D) TT, TGT, THET, aTT 

133 f GH 354 

127 faT fkre farai-
(A) aUSTq7 TTGT C) Tbii, Ttb-M TECI 

(D) T7i7, TT fega 
L (C) i "TTT 

(D) NET-51-UIL 
far r? 
(A) AR. g. 
(B) 37. sA 
(C) f 
(D) fr 

fafa 
L 

135 HarHTRH TÅREUT 25 T43u 

(B) ic 57 

(D) feeeai fafy-A 3 f412it7 a1T 

IP41 S 13 [ Contd.. 



136 Neha is watching the latest movie "Drisnyam-2" |139 Which of the following test is most appropriate 

Since she must know what happens to hero and his 

family. This is the best example of -

for assessing the personality of a child? 

(A) Word Association Test 

(B) Sentence Completion Test 

(C) CAT 

(D) TAT 

(A) Both Intrinsic and Extrinsic motivation 

(B) Neither Intrinsic nor Extrinsic motivation 

T(C) Intrinsic motivation 
(D) Extrinsic motivation 

(A) 9T FTEad Tia 
(B) T T TÜAT 

pmny 

(D) TeT5TT TÜAT (A) ATaf a aa HUT 

140 The I.Q. of a 25 years old boy, whose mental age 

(C) HTTRt THuT is 16 will be -

25 avfa ms1 fe qa ATg 16 T 
(1.QET -

CA) 64 
(C) 156 

(D) TE HTHYTUT 5 

(B) 48 

(D) 100 137 A process in which an individual learns_new 
responses by observing the behaviour of another 
rather than through direct experience is known as- 141 Aditi seldom has time for breakfast because she 

(A) Experimental learning 

2 

attends morning classes. So she feels the urge to 

eat since her stomach is grumbling and feels empty. 
This is an example of -

(A) Need 
(B) Extrinsic motivation 
(C) Motivation 
(D) Drive 

(B) Incidental learning 

(C) Conditioning 
(D) Social learning 

(A) TYPT% 3TYTH4 

C)gdT 
(A) HTA9TT (D) FTHT TTT4 
(B) AT 37fTrUT 
(C) ttTUT 
(D) 3T 138 Which one of the following statements is not 

correct? 

(A) Development proceeds from general to | 142 The best method of personality assessment for 

specific. knowing the popularity of a person in a group is 

AA) Questionnaire 
(B) Interview 
(C) Observation 

(D) Sociometry 

(B) Rate of development is uniform. 

(C) Each phase of development has it's hazards. 

(D) Development is spiral and not linear. 

(A) Y9TaTI 
(B) HIT7 
(C) 7 
D) FHTA 

IP4 S Contd.. 14 



143 Spearman's concept of 'g' stands for. 
(A) General intelligence 
(B) Graded intelligence 

(C) Group intelligence 
(D) Genetic intelligence 

147 What does C0°' stand in COBOL 
(A) Common Object 
(B) Common Oriented 

(C) Computer Object 
(D) Computer Oriented 

COBOL i CO' FT Z9teAT ? 
TA) HHTR q_ 

(B) suiT g Cemmenh 
(B) 4 ys 

(D) TisT% J 
(D) a7T AMÝs 

144 "An eight years old child crawls like his younger 
infant brother" is an example of -

(A) Rationalization 
(B) Compensation 
(C) Regression 
(D) Repression 

148 Which of the following is not related to security 

mechanism? 

(A) Digital signature 
(B) e-cash 

(C) Encryption 
D) Decryption 

(A) zicTTT 
(B) aTye 
(C) uic4A 4 

(A) sTe far 

(B) -6 (e-cash) 
C)y (Encryption) 

D) sTh9TT (Decryption) 

(D) z 

145 Educational Psychology is that branch of| 
psychology which eats with teaching and 

learning." This statement is given by -

(A) Simpson 
(B) Pavlov 
(C) Woodworth 
(D) Skinner 

149 What do you called an unsolicited e-mail? 

(A) Flaming 
(B) News group 

(C) Spam 
(D) Usenet 

(A) T 
(B) T (A) ET ZIRT 

(B) H ET 

(C)gsq ETRT 
(D) tTT ETT 

D) R 

is a technique to reveal the strategic 
information hidden in the data warehouses. 

150 
146 Illegal copying and distribution of software 

is called 
(A) Spoofing 
(B) Software piracy 
(C) Scripting 
(D) Firewall 

(A) Data Warehousing 
(B) Data Support System 
(C) Data Mining 
D) Data Bases 

hEIAT -

(A) q 
(B) HIqr yryt 

(C) ftaeT 
(D) 5147TM 

(A) aTETsftT 
(B) YE fARA 

C) TEfT 

15 
IP4 S [Contd. 
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